Subject: Re: Pandaroot crash due to TParticlePDG.h
Posted by asanchez on Sat, 24 Apr 2010 18:13:53 GMT

View Forum Message <> Reply to Message

Hi

the problem is not geant3 or geant4, because the ions created
as secondaries (parent=35, pdg=1000020040) are

created dynamically by the transport model itself.

So the problem must be somewhere else.

In case the patrticle is not defined geant3 send a message.
| will take a look into Geant3.cxx to check that the pdcCode is correct.

regards
Alicia.

Page 1 of 1 ---- Generated from GSI Forum


https://forum.gsi.de/index.php?t=usrinfo&id=425
https://forum.gsi.de/index.php?t=rview&th=2810&goto=10588#msg_10588
https://forum.gsi.de/index.php?t=post&reply_to=10588
https://forum.gsi.de/index.php

